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SECTION A

Q1

SECTION B

Q2

(a)

(b)

(©)

(a)

(b)

(©)

(d)

(e)

,
Find the sum of the sequence Y (k2 + 6k — 19).

k=1

(5 marks)
(1) Given the sequence 54, 18, 6, ......... State the the formula for the n”
term and n” sum.
(8 marks)

(i)  Based on the formulae for n” sum in b (i), find the sum of 5” terms of

the sequence.
(2 marks)

The sum of the first 11 terms of an arithmetic sequence is 110 and the sum of
the first 20 terms is 290. Find the 11” and 20™ terms of the sequence
(10 marks)

Simplify

@ xy”~? B 3x? ’
x_4yz2 yz .

(i1) i/?éxyzz3 -§/4ysz .

S —

(8 marks)

Rationalize denominator of the expression —2—
x
(3 marks)
. 6 ,
Solve the equation 2 — to the simplest form.
J5+3
(4 marks)
L

Solve 7x% +2 =0 for x value

(3 marks)
(1) Express 3log x — 2log(xy) + log y as a single logarithm.
(ii) Find the value of log, 8 +log, 2 —log,, 64

(7 marks)
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Q3 (a) Given that 4 =5x? =3 and B= x> —x+2. Evaluate
() A* —xB
(i1) 5B+ A4
(7 marks)
(b) Solve the inequality x° >2x? +3x
(7 marks)
— 2 —
(©) Express 2gzx *+6) into partial fraction
(x“+2)(x+1)
(6 marks)
(d) Find the roots of x°> —5x? —4x+3=0 in between [0, 1] by using Secant
Method. Iterate until ] flx, 1 <0.005.
(5 marks)
Q4 (3 Find the exact value of 3 —c0s240° +sin® — 45°
(4 marks)
(b) Given that cos36° =0.8090, find
(1) sin36°
(ii) sin 54°
(i1) cos18°
(8 marks)
(c) Given that sina = % and o lies in quadrant II. Evaluate
(1) sin 20
(ii) cos4a
(7 marks)
(d) Solve 3sinfcos? @ = 2sind for all @ value in between 0° < 6 < 360°.

(6 marks)

CONFIDENTIAL



DAS 11003

CONFIDENTIAL
2 -1
Q5 (@ IfA 23 -0 p (b ) dc=l3 -1, Evaluat
a N ’ o _ — .
45 2 5 _1 an valuate
4 2
6) A-2CT
i) (CB) -4
1
il —CA4
S
(11 marks)
4 x 1
(b) Giventhat D=|-1 2 0/, find the value of x if determinant D, D} =0
-1 11
(4 marks)
(c) Given a linear equation system
X+y+z = 5
2x+3y+5z = 8
4x+5z = 2
(1) Write the system into augmented matrix, [A‘B]
(i) Do row operation one after another as given below:
R, -2R, >R,
Ry —4R, — R,
Ry +4R, > R,
& — Ry
13
(iii)  Continue the row operation from Q3(c)(ii) to find the value of x, y and
Z
(10 marks)

-END OF QUESTIONS -
4
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Exponent, Radical & Logarithms

X" =x" vi)  log,(xy)=log, x+log, y
5 s .. X

i) —=x vii)  log,| = |=1log, x—log, ¥
x" y

vili)  log, x* =klog, x

VA (T
iv) x = («/;) g log, = log, x
log, a
v) x=b"&log,x=n
Polynomial
i) ‘= _biq/bz —4ac ill) Ty = xif(xi+l)_'xi+lf(xi)
- 2a S = F(x)
ii) b)Y (b)) RRS— S
x2+bx+c=x2+bx+[—J —-(—) +c SR ———
2/ A2 TERBUKA
2 2 !
SRt
=lx+=| —-|=| +¢
2 2
Sequence & Series Arithmetic Series Geometric Series
n )T, =a+(n-1)d NT =ar™!
i)ZC=CVl d=u — ) n
k:nl .. n i) r=
i) Zk _ n(n+1) i) S, :E(a+un) Up-1
k=1 2 " i) § = a(l—r")
& nm+D@n+l) iii) S, = =[2a+(n-1d] R
iii) Zk = 2 .
P 6 iv) S, = ——
~F
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Trigonometric Identity Addition and Subtraction Formulas:
i) cost O +sin2 =1 i) sin(a = ) =sina cos S £ cosasin [
i) 1+tan? @ =sec? @ ii) cos(a + ) = cosa cos fF sin asin /
iiiy  cot’@+1=csc’ @ i)  tan(atB)= tana ttanf
lFtana tan j
Double - Angle Formulas Half — Angle Formulas
i) sin26 =2sinf cosd el 1—cosd
i) sin—=+= gl
i) c0s26 = cos* 0 —sin*
OR co0s20=2cos* 01 o) 1+cosd
_ ) i1) cos—==t [—
OR cos26=1-2sin" 6 ” "
2
[  tan2s=-2P0 i nfo [L70050
1-tan" ¢ 2 Vl+cosd
Matrices
ap G2 913 u u e @ w a
2 93 21 923 21 92
A=|ay ay axp |, A|=a11 —dap +a
dz; 433 dzp  Aas3 a3 a3y

as; az  dxp

IS
| I
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